~7

290 LKW YT/ IMT=A—F Ak

AERNEEEEHLAET=R3—+

Sy RAGTRY—5 2016/2/28(H)
o FORR B . PO L.
H)—7R AR | Ly Bl |, .. Sl AR A YN
AlYy—4 /5\1)327 Eyz *77 BYE = é LE | BY—7 1c | F—¥¥| smTC jJT:;y e é = |
R 1IN—7731—2 3-0/1-2 - |1|4/543% 2 BFZIlTC 1 -2/1-2/3-0|1]|5]|506%| 3
A)—REVX |0 - 3 1 -2 - |0]|1]|27.7% 3 M= 2 - 1 1-2(3-0/2|6/590%| 2
FHORRR—YS5T|2 - 1|2 - 1 - |2 466.7% 1 SMTC 2 - 1|2 - 1 2 - 1/3|6/|538%| 1
BYE - - - 19180 F=ZH—F»|(0 - 3|0 - 3|1 - 2 0 1]329%| 4
Ron—o73)—2|3 - 0| AJ—REVX B ZHBTC -2 =
Di WA BEE 6 - 1 BEY B D1 =H HEE 6 RiE OEF
TE B Y &=H ik B s Rt
Do KO HF 6 - 1 A BF D2 & £F9H 4 TEEr #0x
Fir NI BU A a5 gk EE W
D3 TR B 6 - 1 WG #E D3 aR SEF 6 hit FE
BLE &5 hE EH2 AR B FEr tHNT
FTHORRR—YH5T| - BYE SMTC - 1AV RS F=ZHA—F
B _ D1 »‘:’# Ea g )| KD—)*%
E@A B AR #h#E
IANK E& _ T EF
b2 D2 g mR O g =al
T E£EF Y8 BE=F
D3 - D3 6
=5 = © B
RoNR—=D73)—=2|1 - 2| PHORRKR—YH5T B ZHETC -2 SMTC
Di WK BEE 7 © 6 FE bt D1 HE £F9H s T O EEF
HO #AE EB L3R fngk ARG BlE =X
Do KO ¥ 0 -6 AR 9HF D2 B LBEH g EH OE=F
Fir P N AlE T Nk Bk a/E F
nh %044 K4y v = = o1
D3 Eji Eit 0 -6 M K& D3 =H ﬂi’;‘ I AR EF
=ik 15 #]AR A FTH #®E E@R B
AM)—REV X - BYE k—o - 0| AN TF=RA—TFTY
hF FEB Il p5F
D1 - D1 ® 6
hH ] AT e
EA mF W =F
b2 2w mt 0 g Zal
RE OEF ¥/ BE=F
D3 - D3 5 -2
FE A FE &8
Ron—opz)—2| - BYE B Z#ETC - 0| AV RS F=RA—F
-z E; =
o1 ~ pi|_ B _,l Al B5F
gk EE FARE th#E
ER LBEH N E=F
b2 2 Fm @ 2N %A
iR SEF 28 BE=F
D3 - D3 -2
ANk ARG FE &8
M) —RELX |1 - 2| PORRKR—YH5T kM=o -2 SMTC
o A BF {_ s AR 9HF D1 RE =T s EH OE=F
#LU KA AlE EE Sk Rt BlE =X
D2 RG #EF 3 -6 B K& D2 hf FEB I AR E&
FE EZ ®}BAR AW hF A a/E ¥
D3 EYM = 6 - 4 FE bhh D3 TREy = s T EEF
EY R =8 sh3% FE W EH B




F29E LLEHISTHIT=AM—F Ak BETHEBEEH AT a—h

SyHREERBE)—5 2016/2/28(H)
. AN B | Lo
. e s A= | EeE |2 B P r—L| 8
F—FAb Thry—7 g j;-__j_i}/ BYE | é = &
FHRRK—IH5T FHRRK—YHT5T M)—RELX 1 -2/3-0| - 114 |51.7%| 2
= 2-1 R IN—T P —2 BZiTC |2 - 1 3-0/ - 2|5 66.7%| 1
RIS —T73Y—2 RoN—T7Sy—2  2—1 19180 F=2H—F»[0 - 3|0 - 3 - |0|0|321%| 3
SMTC 2-1 BYE - - -
R
FHRRE—YH5T |2 - 1 k—>v M) —REVX |1 -2 B ZHETC
D1 5 RE 6 - 2 TREF = D E BF 5 _ 7 HE FIH
#}|RK A hEt N Bl kA nEE BE
D2 AR 3HF 6 - 3 il wmF D2 EY = 0 - 6 aE &H
AlE EFE =i R EXY REH & g
D3 Fik HHrt 4-6 RE E=F D3 WG #EF 6 - 4 ER LEH
=5 hE FE W FE E2 TH #BE
R B
Ron—273)—22 - 1 SMTC AUNSTF=ZA—F2[0 - 0 BYE
WK BEE TH F=F
D1 6 - 3 AN D1 -
TR B8 BE F
KO HF T EEF
D2 - 6 - 2 = = D2 -
#®wK E5 =lE B
=ik 2R AR E&E
D Bnm &5 || T B &% b3
RIS
THORRR—=YH5T |1 - 2|/ RoIN—TF731)—2 A)—REVX |3 - 0|4V NIFZRA—TY
D1 B KEF 3 -6 WA BEE D1 WG #EF 6 - 3 BN W5F
#]|RK A TE B FE E2 ARG th#E
D2 AR FHF 6 - KO HF D2 B = 6 - 2 Y E=F
eI #BK B8 B =W IME ZFE
o ey £0 4% =1 L=z ] B =
D3 ﬁlaa.*s? Hhta 3 -6 Eﬁﬁv E.fi D3 Fiic) =z} Ba% 7 6 Eﬁvm_?
=5 hE BLE &5 Bl kA FE &
BFZHBTC 3 - 0| M NOF=ZRA—TFY
D1 HE &H ;s B W5F
TFH #BE FARE th#E
E kY 2
oo BW BEF . [ T =%
= 5% IMNE ZEHI
=H HE R 28 BE=F
D3 6 EO
Ik B T FE &




